£ 5

Call someone to help, you Put the seat upside downona  Take the first side and place Repeat the same operation Finally, fix the backrest using
better be two people! table with soft surface in it on the seat. with the other side of the 4 BHSS M8X10 screws.
order not to damage it. table.
Fix it with 4 BHSS M8x10 Done!
SCrews.

Assembly instructions

040. Flat bench+metal sides
Five steps procedure U RB ANT

DIEMMEBI @



What do you need?

- 8 BHSS M8x10 screws (for the seat)
- 4 BHSS M8x10 screws (for the backrest)
- a hex screwdriver/Allen key

URBANT

DIEMMEB| ®

=
m



